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Consider the following statements

regarding 'Sandbox Technology”:

(1) It enables testing of programs and
execution of files without affecting
the application, system or plaiform
on which they run.

(2) 1t does not provide any protection
against previously unseen new
security threats - malware.

(3) It detects malware proactively
unlike traditional security measures
which act reactively to malware.

Which of the statements-given above

are correct?

(a) 1 and 2 only

{b} 2and 3 only

(c) 1 and 3 only

(dy1,2and 3

Consider the following statements

regarding farmers in india:

(1) There is no conclusive
definition of farmers in India.

(2) Most agricuiture schemes and ioan
waivers benefit only the land-
owning farmers.

legal

Which of the statements given above

is/are correct?

(a) 1 only

(b) 2. only

(c) Both 1and 2
(d) Neither 1 nor 2

Which- of the following provisions

ensures  independence of  the

Judiciary? '

(1) The Constitutional Courts have the
power to punish for their contempt.

(2) The officers and servants of
Constitutional Courts are appointed
by the Chief Justices concerned.

Select the correct answer using the

code given below:

(a) 1 only

(b) 2 only

{c) Both 1and 2

{d) Neither 1 nor 2

74.

75.

76.

This body of ascetics were under
rigorous dlsc;phne and also practised
complete nudity. The sect was
certainly atheistic, and its main feature
was strict determinism. It denied the
karma theory and propounded that the
whole universe was conditioned and
determined to the smallest detait by an
impersonal cosmic principle, Niyati, or
destiny. The religion or the sect is:

(a) Buddhism

(b) Digambar in Jainism

(c) Ajivikas
(d) Tantricism

Arrange the following greenhouse
gases in order of decreasing Global
Warming Potential in a time horizon of
100 years:

{1) Nitrous Oxide

(2) Carbon Dioxide

-(3) Sulfur hexafluoride

(4) Methane

Select the correct answer using the
code below:

(a) 1-2-34

(b) 2-1-3-4

{c) 4-3-2-1

(d) 3-1-4-2

Why a slowdown in nominal growth

should be a concern to India?

(1) it has a psychological impact on

~ corporates and households.

(2) It reduces fiscal space for the
government due to targeting of
fiscal deficit.

(3) it makes the government’s debt
challenging to manage.

(4) It gives a higher layout on GST
compensation to States.

Select the correct answer using the

code given below: -

(a) 1 and 2 only

(b) 3 and 4 only

(c) 1,2 and 3 only

(d)1,2,3and 4
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